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1. FEIBE IR i

English Examination
(February, 1986)

Part I Grammatical Structure

Section A (1 mark each)
Directions: There are 10 items in this section. Beneath each sentence
are four words or phrases, marked a, b, ¢, d. Choose the one word or
phrase that best completes the sentence. Mark your answer_b;/ blacken-
ing the corresponding letter on the Answer Sheet with a pen or a pencil.
Example: I have been to the Great Wall three times 1980.
a. from b. after c. for d. since

Sample Answer

a b ¢ @
1. I did not have a job, 1 would have found one but 1 no time

to look for it.

a. had c. had had
b. didn’t have d. have
2. This work is
a. worth being done ¢. worth to be done
b. worth doing d. worthy of*doing

.4.



3. By the time you get io New York., [ for Sar: Francisco.

a. have already left c. shall have left
b, will leave d. am leaving
{. Here is | .

a. so big a stone no one can lift
b. so big a stone as no one can lift it
¢. such a big stone as no one can lift
b. a such big stone that no one can lift it
5. We can let you have as you need.
4. copies as many C. S0 many copies
b. as many copies d. copies as much
6. No sooner gone home than it began to rain heavily.
a. had 1 c. I have
b. have I d. 1 had
7. “Michael likes your new shoes. ”
“That’s because they’re so similar his own. ”
a. of ¢. with '
b. to d. as
8. “Aren’t you going to ask the teacher why he gave you that grade?”
“No, 1 intend 7
a, to let rest the matter
b. the¢ matter to be let resting
c. letting the matter to rest
d. to let the matter rest
9. *Is your watch broken?”

»

“Yes, 1 must have it

a. fixing c. to be fixing
b. to be fixed d. fixed
10. Never for multiple-choice-books as in the last few years.
a. there has been such demand
b. has there been such a demand



¢. such demand had been there

d. has been such a demand there

Section B 1 i:ark each)
Directions; There are ten sentences in this section. Each sentence has
four partsl underlined. The four underlined parts are marked a, b, c,
d. Identify the one underlined part that is wrong. Mark your answer by
blackening the c_o;esponding letter on the Answer Sheet with 2 pen or a~
pencil.
Example;
A number of foreign visitors were taken to the industrial exhibition
a b
which they saw many new products.
e d
Sample Answer
a b @ d
Answer ¢ “which” is wrong because the sentence read “A number
of foreign visitors were taken to the industrial exhibition where they
saw many new products”. So you should choose c.

11. For many years prison inmates have protested such conditions as

a b c
contaminated food, a brutalizing environment, and conditions are

d

unsanitary.
d
12. The juvenile offender was released from custody on condition that
a b
he find a job immediately and stayed out of trauble for six months.
c d

13. Unlike many other industrial countries, the inflation rate in the

a
06'



14.

15.

16.

17.

18.

19.

20.

United States has for some time been less than 12 per cent a yea.
T c d
Tending dairy cows is a much better way to spend the summer thén
a b c
if I attend summer school.
d
According to a recent report, the number of sugar that America:is
a b c_
consume does not vary significantly from year to veat.

d

It is curious that he can’t hardly tell me the difference between one

a b v
tree and ancther.
T
In the relatively short history of industrial developing in the United

a b c

States, New York City has played a vital role.

d
He told my sister and I that we must practise a littlg longer before
a b
we can expect to play the piano well.
c 4
After being placed on the table for nearly a whole week the food
a b
tastes a little sourly.
c d
Upon returning from class a letter was found in the mailbox at the
a b c d

-

gate of the college.

Part 1 Vocabulary and Reading Comprehension



Section A Vocabulary (] mark each)
Directions, There are 20 questions in this section. Each sentence has a

word ot phrase underhined. There are four other words or phrases be-

neat:: each sentence. Choose the one word or phrase which would best

keep the meaning of the originat sentence if it was substituted for the un-

derbned part. Mark your choice by blackening the corresponding letter

on the Answer Sheet with a pen or a pencil.

Example; The initial step is often the most difficult.
a. qlrck;t ¢. longest
b. last d. first
Sample Answer
a b ¢ @
The best answer is d, because “first” has the same meaning as “ini-
tial” in the sentence.
21. Rice is the principal food in this part of the country.
a. most important ¢. delicious
b. head-master . d. special
22. They fired the cook for his incompetence.

a. set on fire ¢. were pleased with
b. were angry with d. dismissed

23. After a lot of frustration, they still went on with the experiment.
a. success C. praise
b. encouragement d. defeat

24. The Eskimos near the North Pole enjoy the raw meat from seals.
a. cold ¢. uncooked T
b. rough d. cooked

25. Some people prefer to live in the north, whereas some people prefer
to live in, the south.
a. whatever c. and
b. as where d. but in contrast

26. In 1913 dissatisfaction among workers in the Ford Company result-

u8-



27.

28.

29.

30.

31.

32.

33.

e¢d in high turnovers.

a. production C. spirits

b. sales d. rate of replacing workers employed

It is rather hard to predict the personal development of a skilled ac-

countant or a secretary.

a. foretell c. rely on

b. pay attention to d. dictate

Typically automation is accompanied by a sharp decrease in the
number of workers.

a. good management

b. mechanization

c. using self-operating machine

d. centralization

The report is badly written that I can’t figure out the actual situa-
tion of that firm.

a. agree with ¢. read

b. understand d. decide

Friendly contacts between different people facilitate the cultural in-
terchange.

a. make easy ¢. connect

b. carry on d. bring about

You must have insight into the international market.

a. experience with c. understanding of

b. identification with d. hostility toward

A person who deals with the public must be courteous at all times,
even when he or she is very tired.

a. forthright C. decisive

b. polite d. neat

To make Highway 70 East is a shortcut to Oklahoma City.

a. a narrow path c. a banner

b. a direct route d. a raid



34. Jean takes after her mother in characier.
a. humiliates ¢. resembles
b. initiates d. embarrasses
35. We saw a lot of commercial buildings in Chicago.
a. condensed ¢. business
b. razed d. vacant
36. The soldier was very weary.
a. tired c. old
b. angry d. brave
37. His indignation knew no bounds.
a. demand c. anger
b. understanding d. fear
38. He was outraged by her actions.
a. angered c. conformed
b. shamed d. surprised .
39. The appearance of the house will be enhanced by the addition of the

new room.
a. changed c. improved
b. unchanged d. balanced

40. My uncle bequeathed his house to Dr. Smith.
a. left c. sold
b. rented d. showed

Section B Reading Comprehension

Directions: In this section you will find after each of the passages a
number of questions about the passage, each with four suggested an-
swers. You should choose the one which you think fits best. Mark your

answer on your Answer Sheet.

Questions 41-45 refer to the following passage .

It is not often realized that women held a high place in southern Eu-

0100



ropean sccieties in the 10th and 11th centuries. Asa wife, the woman
was protected by the setting up of a dowry or decimum. Admittedly,
the purpose of this was to protect her against the risk of desertion, but
in reality its function in the social and family life of the time was more
important. The decimum was the wife’s right to receive a tenth, of all
her husband’s property. The wife had the right to withhold consent in
all transactions the husband would make. And more than just a right.
the decuments show that she enjoyéd a real power of decision, equal to
that of her husband. In no case do the documents indicate any degree of
difference in the legal status of husband and wife.

The wife shared in the management of her husband’s personal
property . but the opposite was not always true. Women seemed petrfeci-
ly prepared to defend their oWh inheritance against husbands who tried
to exceed their rights, and on occasion they showed a fine fighting spir-
it. A case in point is that of Maria Vivas’a Catalan woman of Barce-
lona. Having agreed with her husband Miro to sell a field she had inher-
ited, for the needs of the household, she insisted on compensation.
None being offered, she succeeded in dragging her husband to the scribe
to‘have a contract duly 'drawn up assigning her a piece of land from
Miro’s personal inheritance. The unfortunate husband was obliged to a-
gree, as the contract says, “for the sake of peace. ” Either through the
dowry or through being hot-tempered, the Catalan wife knew how to
win herself, within the context of the family, a powerful economic posi-
tion.

41. A decimum was

a. the wife’s inheritance from her father.

b. a gift of money to the new husband.

¢. a written contract.

d. the wife’s right to receive one-tenth of husband’s property.

42. In the society described in the passage, the legal standing of the
wife in marriage was

0110



higher than that of her husband.
lower than that of her husband.
the same as that of her husband.

8o g w

higher than that of a single woman.
43. What compensation did Maria Vivas get for the field?
a. some of the land Miro had inherited
b. a tenth of Miro’s land
c¢. money for household expenses
d. money from Miro’s inhetitance
44. Could a husband sell his wife’s inheritance?
a. No, under no circumstances.
b. Yes, whenever he wished to.
c. Yes, if she agreed.
d. Yes, if his father-in-law agreed.
45. Which of the following is not mentioned as an effect of the dowry
system? '
a. The husband had to share the power of decision in martiage.
b. The wife was protected from desertion.
¢. The wife gained a powerful economic position.
d. The husband was given control over his wife’s property.

Questions 46-50 refer to the following passage .

Finding enough meat was a problem for primitive man. Keeping it
for times when it was scarce was just as hard. Three ways were found
to keep meat from spoiling; salting, drying, and freezing. People near
saity waters salted their meat. At first they probably rubbed dry salt on
it, but this preserved only the outside. Later they pickled their meat by
soaking it in salt water.

In hot, dry lands, men found that they could eat meat that had
dried while it was still on the bones. They later learned to cut meat into
thin strips.and hang it up to dry in the hot air.
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